Can | subtract a 3d number from a 3d number using the column

method?

45+69

— |
A B

Which line is vertical?

Fast Five

Name this angle

3x3=
8x4=
Ox5=

Which numbers
are odd?

82 37 29 10

Answers on the next slide



Can | subtract a 3d number from a 3d number using the column
method?

45+69= Fast Five Answers

114

Name this angle

Right
Angle

A
Which line is vertical?

3x3=9
8x4= 32
Ox5= 45

Which numbers
are odd?

82 37)29 10

Answers on the next slide



Can | subtract a 3d number from a 3d number using the column
method?

1)  Remember to always start with
the ones column. Subtract the
bottom number from the top
number in each column.

H T O
5 6 2
3 2 1




Can | subtract a 3d number from a 3d number using the column
method?

1)  Remember to always start with
the ones column. Subtract the
bottom number from the top
number in each column.
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Can | subtract a 3d number from a 3d number using the column
method?

1)  Remember to always start with
the ones column. Subtract the
bottom number from the top.

2) If the bottom number is bigger,
then you need to look at the next

6 4 5 column and borrow 1 from the
top number.

3) Add the extra 1 ten or 1 hundred
- and add it to the top number your
current column, and then subtract
the bottom number. Write your
answer below.




Can | subtract a 3d number from a 3d number using the column

method?
1)  Remember to always start with

the ones column. Subtract the
bottom number from the top.

2) If the bottom number is bigger,
then you need to look at the next
column and borrow 1 from the
top number.

and add it to the top number your
current column, and then subtract
the bottom number. Write your
answer below.

T
34
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4) Continue with the other columns
using the new numbers on the top
row. Repeat step 2 and 3 if your
next column has a larger number
on the bottom row.
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1 5 3) Add the extra 1 ten or 1 hundred
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Can | subtract a 3d number from a 3d number using the column

method? 1) Remember to always start with
the ones column. Subtract the
bottom number from the top.

2) If the bottom number is bigger,
H T O then you need to look at the next
column and borrow 1 from the
top number.

.6, _5, 5 3) Add the extra 1 ten or 1 hundred
5 'I 4 1 and add it to the top number your
current column, and then subtract

4 6 6 the bottom number. Write your

- answer below.

4) Continue with the other columns
using the new numbers on the top
1 8 9 row. Repeat step 2 and 3 if your
next column has a larger number
on the bottom row.




